1/4

KENDRIYA VIDYALAYA AFS MANAURI

PERIODIC TEST-1
CLASS:IX; SESSION:2017-18
SUBJECT:SOCIAL SCIENCE
TIME-li HOURS MAX. MARKS-40

GENERAL INSTRUCTIONS

1.All Questions are compulsory.
2.Medium of writing is to be either only in English or only in Hindi.
3.The extra weight-age will be given for clear, coherent & succinct answer.
4.The number of marks carried by each question is indicated at the end of the question.
5.This question paper consists of five parts i.e. Part A, Part B, Part C Part D & Part E
6.In case of contradiction in the Hindi and English version of questions given hereunder
,English version will be followed.

PART-A(MCQ):4X 1/2=2 MARKS

1. Which of the following decisions was taken by the National convention?

(a) Declared France a constitutional monarchy
(b) Abolished the monarchy
(c) All men and women above 21 years got the right to vote

(d) Declared France a Republic ‘—_15
2.Democracy improves the quality of decision-making because
(a) decisions are taken by educated people
(b) decisions are taken by consultation and discussion
(c) decisions are taken over a long period of time
(d) all decisions are approved by judiciary i
3. Multiple Cropping refers to :
(a) cultivation of wheat and rice
(b) cultivation of two crops in alternate rows
(c) cultivating more than one crop on the same field each year
(d) cultivating crops and rearing animals on the same farm ‘—_t
4. Which one of the following water bodies separate Sri Lanka from India?
(a) Palk Strait and Gulf of Khambhat (b) Palk Strait and Gulf of Mannar
(c) Gulf of Mannar and 10° Channel (d) 10° Channel and Gulf of Khambhat i
PART-B(VERY SHORT ANSWER) ):6X1=6 MARKS
5. On what charges was Louis XVI and Marie Antoinette beheaded? 1
6. Who were the sans culottes? 1
OR
What is Subsistence Crisis? 1
7.What do you mean by Rabi and Kharif Crops? 1
8.Define Democracy? 1
OR
Name the party which ruled Zimbabwe since its independence and who is its ruler? 1
9. Name the group of islands lying in the Arabian Sea. 1
10. The sun rises two hours earlier in Arunachal Pradesh as compared to Gujarat. What time will the
watch show in Gujarat if it is 6 am in Arunachal Pradesh? 1
PART-C (SHORT ANSWER) ):5X2=10 MARKS
11. Why do we need a Standard Meridia for India? Explain. 1+1=2
OR
Explain why Ahmedabad and Kolkata are able to see the noon sun exactly overhead in a year but
not Delhi. 2
12.What do you mean by Reign of Terror? 2
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13.State any two advantages of Green Revolution. 1+1=2

14.Name any two features of Democracy. 1+1=2

15.With reference to Zimbabwe, describe how the popular approval of rulers is necessary

in a democracy but not sufficient? 2
OR

How does democracy in a country enhance the dignity of an individual? State two

points. 1+1=2

PART-D(LONG ANSWER) ):4X3=12MARKS
16. What is the difference between disguised unemployment and seasonal unemployment? (1‘—2) +(1§)=3

17. In which way is the right to vote denied in Saudi Arabia and Fiji? 1+1+1=3
OR
Why is Democracy considered the best form of government? Give three reasons. 3
18. How the central location of India in Indian Ocean helps India in various ways. Write
any three points. 1+1+1=3
OR

Why is there a difference of 2 hours in local time between the eastern-most part of Arunachal
Pradesh and western-most part of Gujarat? Explain.

19. Answer the Following : 1§ +1§=3

(a) Write any two features of the constitution of 1791 of France.
(b) Why is it not possible for the people to rule directly but through elected representatives?

PART-E(VERY LONG ANSWER) ):2X5=10 MARKS
20. Describe any five major causes of the French Revolution. 5
OR
Who were the Jacobins? What was their contribution to the French Revolution? 2+3= 5
21.What is the aim of organization of production?Describe the essential four requirements
for production? 1+(1+1+1+1=4)=5
OR
Why is human resource the most important resource? What steps can be taken to improve the
quality of human resource? How does an improved quality of human resource help in establishing a
virtuous cycle? (1+2+2)=5

THE END
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